REBXNFOEUE bigBO10-(1)

HOBRRETN—IDBERESL—ZVT

124+1= 11649 =

2. 3+ 8= s 4492 =

3 2+9= 9] [+ 6=

412+ 8= 100547 =

5 14 /= 1 349 =

6] 9+9= 294 6=
RET: Qe



REBXNFOEUE bigBO10-(2)

1194+8= 1124+6=

2 6+ 8= 8|54 [/ =

36+ 2= 9/ 34+ 1=

4 4+4= 10014 7=

52+ 1= e+ 1=

6/ 4+6= 12 84 5=
RET: Qi

MOBRRETN—IDBERESL—ZVT



REBNFOEUE bigBO10-(3)

14+4= 1114+ 5=

2 [+ 2= 8 2+ 3=

32+4= 9]0+ 2 =

41449 = 10094 1=

5 44 95= 1 542=

6] /+6= 121949 =
RET: Qe

MOBRREDN—IDBERESL—ZVT



REBNFDREULE 2)=» 1194+8= 17 [724+6= 8
PIEEDTO 216+8= 14 [85+7= 12

[@Dz\v] 316+2= 8 9/3+1= 4

= 144+4=8 [01+7=8

o 512+1=3 [6+1=7
I Jl,| ©4+6=10 28+5=13

12+1=3 [1164+9=15|[11+4=35 [114+5=6

2/13+8= 11 [8/44+2=6 |27+2=9 [324+3= 35
3124+9=11 [I74+6=13 | 3/124+4=6 [29+2= 11
42+8= 10 [05+7= 12 | 444+9= 13 [109+1= 10

5/1+/7/=8 [13+9= 12 | 5/44+5=9 [1d5+2=7
6/9+9= 14 [129+6= 15| 6/ 7+6= 13 [Z9+9= 18
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